7= A= =
CMS 49 445,000

SRR 24 25,801,880%
2 73 26,246,880
= 312 68,724,921%

2. TUE $UHY
20224 58 =C=, A, A HTME

2 1,362 47,272,800
= 50,341 276,131,5502



3.3 ALge

AELHY =4
CMS == O[A 60,160&
53 /M= t= X= 734,400
O{HHO|t SHA} AFRAH| 13,630,000
HfXt=2| ZIHH|(25H| S) 1,365,780&
HMK|H MH|A ALK =25 7 179,600&
A SO K| ALY w2 £l 1,199,940
7|22 At 2,822,700
ZEA|E O|HO|E S4AH| XI5 500,000
BN 2 (5) Al A AEEK]" EId | 162,700
FHEENHES ARG 15,000
S|U2E FIAAS 717t X HAFY 1,000,000
=30z s X At 619,480&




